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AEREAE No1~5 A1EILLE. 2O F1ESE

No. TIRfE EEE
- |EBEREAR - - R7.47 |R75.12| R7.62 | R1.7.7 | R1.84
- |BEHENGH - - R7.4.24 | M33.1.8| R7.6.12 | R7.7.23 | R7.8.21
1|KFAFVEE OKFIEH) - 5.8~8.6 7.8 7.8 7.9 8.1 8.1
2/EMILFEMBEERE 0.5 10LLF <0.5 <0.5 <0.5 <0.5 0.6
MEEMBRERE 0.5 10LLF 1.8 2.1 2.7 23 23
4 FHEYE = 1 10LLF <1 <1 <1 <1 <1
5| KIZE 1 30004 F <1 <1 <1 <1 <1
6|7 ILFILKERIEEY 0.005 |RHEhiLIE T
7|KEBR VT ILFEILIKEEZ DD KERIEEY 0.005 0.005LLF <0.0005)
8|HFEVLRUZDILEY 0.001 0.03LLF <0.001
IR UZDILEY 0.005 01T <0.005
10| HHIHIEEY 0.1 1T <0.1
11|AREIOLIEEY 0.02 05T <0.02
12|MBERVZDILEY 0.005 01T <0.005
13|71t a 0.1 1T <0.1
14|RJE{LREIZ=)L 0.0005 0.003L4F <0.0005)
15|k)oA0TFLY 0.001 01T <0.001
16|7+>o00TFLY 0.001 01T <0.001
17[>yanxay 0.001 02LF <0.001
18|MiE bk % 0.0002 0.02LLTF <0.0002]
19|1,2-Cyonx4ay 0.0004 0.04LLF <0.0004
20[1,1-HoaTFLy 0.001 1T <0.001
21[>zx-1,2-CHanzFLy 0.001 04LLTF <0.001
22[1,1,1-F)oBoxT 2y 0.001 3T <0.001
23[1,1,2-~)oooxT Ry 0.0006 0.06 LT <0.0006
24|13->Hnn7aRy 0.0002 0.02LLF <0.0002]
25(F 55 L 0.0006 0.06LLTF <0.0006]
26[><>y 0.0003 0.03LLF <0.0003]
21|FARU AT 0.001 02T <0.001
28|RoEY 0.001 01T <0.001
29| 2L RUZEDIEEY 0.002 01T <0.002
30[1, 4-OFFH> 0.005 05T <0.005
3N|IFS3RRUVZDIEEY 0.1 50LLF 0.4
2|5 HRRUVZDILEY 0.08 15T <0.08
33|7rEZT . TUESZYLLAY. ERMBILAMRURMERLE 0.1 200LLF 29
/v~y mnEA AR GRRESAR) 1 5LLTF <10
5[/~ mEnEA AR DB AEESAR) 1 30LLTF <10
6|7/ —ILIEBEE=E 0.05 5T <0.05
JN|HEF=E 0.01 3T <0.01
B|HIREHE 0.05 2T <0.05
| BEMNNBEEE 0.1 10LATF <0.1
W[AamHET UiV EEE 0.1 10LLF <0.1
ICEVR- 0.02 2LLTF <0.02
R|EREFE 0.2 120LLF 3.2
B|BER=E 0.02 16T 0.46
4| FAF X - 10LATF -
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14| GRS

15|1,2->4H00xT4>

16|1,1->HO00xTFL>

17|1,2->HO00xFL>

18|1,1,1-F)yooxT 2y

19(1,1,2-k)oopnT A

20[1,3-C>Hoo7aRy

2| F 074

2|12=oy

23| FAARAIILT

24[RUEY

25|L>

26[1, 4-CAFH>
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HAEE(E
- - R7.4.7 | R75.12| R7.6.2 | R7.7.7 | R7.84
- - R7.424 | R75.21| R7.6.12| R7.7.23 | R7.8.21
- - 275 26.8 27.0 279 26.9
- - 6.7 6.9 6.8 6.7 6.9
0.0005 |®HEhiLZE EH
0.0005 0.0005AF <0.0005
0.0003 0.003LLF <0.0003
0.001 0.01LLF <0.001
0.005 0.05LLF <0.005
0.001 0.01LLF 0.005
0.1 BRHEIhEGWNIE EH
0.0005 |®HEhiLNZE EH
0.001 0.01LLF <0.001
0.001 0.01LLF <0.001
0.001 0.02LLF <0.001
0.0002 0.002LLF <0.0002
0.0004 0.004LLF <0.0004
0.001 0.1LLF <0.001
0.002 0.04LLF <0.002
0.001 1LLF <0.001
0.0006 0.006LLF <0.0006
0.0002 0.002LLF <0.0002
0.0006 0.006LLF <0.0006
0.0003 0.003LLF <0.0003
0.001 0.02LLF <0.001
0.001 0.01LLF <0.001
0.001 0.01LLF <0.001
0.005 0.05LLF <0.005
0.0002 0.002LLF <0.0002
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No. EETHRE e
- |HHERER B - - R7.47 | R75.12| R76.2 | R7.7.7 | R7.84
- |REHEREE - - R7.424 | R7.521| R7.6.12| R7.7.23 | R7.8.21

HEER = CES - - 65.2 58 63 60 59.5

2IKFAFVEE OKFEH) - - 7.2 7.6 7.2 7.7 73

3[7ZILFILKERIEED 0.0005 [#HEhiLE T

4| #aoKER 0.0005 0.0005L1F <0.0005

5[hR=H L 0.0003 0.003LLF <0.0003

6|8n 0.001 0.01LLF <0.001

7|{fo B L 0.005 0.05LLF <0.005

B e 0.001 0.01LLF <0.001

B ED 0.1 BEhiNCE T
10|7/RIGIEEDT=)L 0.0005 [®HEhiLIE T
1kJyoonTFLY 0.001 001LLTF <0.001
122|750 FLY 0.001 0.01LLTF <0.001
13[CoooAsy 0.001 0.02LLF <0.001
14|miEL R FE 0.0002 0.002LLF <0.0002
15]1,2->400xT 4y 0.0004 0.004LLF <0.0004
16|1,1->HO00xTFL> 0.001 01T <0.001
17|1,2->HO00xFL> 0.002 0.04LLF <0.002
18{1,1,1-F)oopxT A 0.001 1T <0.001
19(1,1,2-k)oopnT A 0.0006 0.006LLF <0.0006
20[1,3->HyaR7Aaxy 0.0002 0.002LLF <0.0002
2[FO3 L 0.0006 0.006LLF <0.0006
2|12=oy 0.0003 0.003LLTF <0.0003
23| FAARAIILT 0.001 0.02LLF <0.001
28R 0.001 001LLTF <0.001
25|l 0.001 0.01LLF <0.001
26|11, 4-OA XY 0.005 0.05LLF <0.005
27|y FLY 0.0002 0.002LLF <0.0002
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